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Ajmal National Talent Search Examination, 2009
Class : XII

Time/a]Ì^ : 2 hours (H³Oôç) Full Marks ˚ ˜≈Í¬ Ú•§1– (40+40+20)=100

INSTRUCTIONS ˚ øÚÀ√«˙±ª˘œ –¡

1. Attempt All Questions. ˚ õ∂ÀÓ¬…fl¡ÀÈ¬± õ∂ùü1 Î¬◊M√√1 fl¡1±º

2. There are four options to every question. Choose the correct option by putting any one of a, b, c or d,
in the box ̊ õ∂øÓ¬ÀÈ¬± õ∂ùü1 ‰¬ø1È¬± ø¬ıfl¡ä Î¬◊M√√1 ø√̊ ˛± ’±ÀÂ√º qX Î¬◊M√√1ÀÈ¬± ¬ı±øÂ√ Î¬◊ø˘ ˛̊± ◊̋√√ fl¡± ∏̄Ó¬ Ôfl¡± ¬ı±fl¡‰¬Ó¬¡ a, b, c  ¬ı±¡ d ø˘ø‡¬ı±º

General Knowledge ̊  ¸±Ò±1Ì :±Ú

1. During Cardiac failure, which of the following is advised as a first aid? ˚ ̋ √√+√̊ La ø¬ıfl¡˘ Œ √̋√±ª±1 ̧ ˜˚̨Ó¬ õ∂±Ôø˜fl¡ ø‰¬øfl¡»¸±1 øfl¡ Î¬◊¬ÛÀ√̇

ø√̊ ±̨ ̋ √√̊ ∑̨

a) Mouth to mouth resuscitation ˚ ̃ ≈‡Ó¬ ̃ ≈‡ ̆ ·± ◊̋√√ Î¬◊̇ ± √̋√À˘±ª±Ó¬ ̧ √̋√± ˛̊ fl¡1±

b) Giving external cardiac massage ˚ ¬ı≈fl≈¡Ó¬ ̃ ±ø˘‰¬ fl¡1±

c) Giving cool water to drink  ˚ Í¬±G± ¬Û±Úœ ‡±¬ıÕ˘ ø√ ˛̊±

d) Giving complete body massage ˚ ̧ •Û”Ì« ̇ 1œ1Ó¬ ̃ ±ø˘‰¬ fl¡1±

2. What is Bisphenol A (BPA)? ˚ Bisphenol A (BPA) øfl¡∑¡

a) A medical test to detect cancer ˚ Œfl¡=±1 øÚ1n∏¬ÛÚ1 [¬ÛXøÓ¬] ¬Û1œé¬±

b) A test to determine the use of drugs to improve performance by athletes ˚ Œ‡ ≈̆Õª1 ¬Û±1√ø «̇Ó¬± ¬ıÏ¬ˇ±¬ıÕ˘ ¬ı…ª √̋√±1 fl¡1± fi ∏̄Ò

Œ¸ªÚ Ò1± Œ¬Û˘±¬ıÕ˘ fl¡1± ¬Û1œé¬±

c) A chemical used for the development of food packaging materials ˚ Œ‡±ª± ¬ıd1 Œ¬ÛÀfl¡È¬1 ̃ ±Ú√G ¬ıÏ¬̌±¬ıÕ˘ ¬ı…ª √̋√±1 fl¡1±1 ¤ø¬ıÒ

1±¸± ˛̊øÚfl¡ ̂ ¬ı…

d) A special type of steel aloy ˚ ¤ø¬ıÒ ø¬ıÀ˙ ∏̄ ø©Ü˘ Œ˜Ã˘

3. The release of which one of the following into ponds and wells helps in controlling mosquitoes? ˚ Ó¬̆ 1 Œfl¡±Úø¬ıÀÒ ¬Û≈‡≈1œÓ¬ ¬ı±

Ú±√Ó¬ ̃ √̋√1 øÚ ˛̊LaÌÓ¬ ̧ √̋√± ˛̊ fl¡À1∑

a) Crab ̊ Œfl“¡Àfl¡±1± b) Dogfish ̊ Î¬·øÙ¬‰¬

c) Gombusia fish ˚ ·•§≈øÂ√̊ ±̨ d) Snail ̊  ̇ ± ≈̃fl¡

4. How long does a National Emergency, duly proclaimed and approved by the Parliament, remain in force? ˚ 1±©Ü™œ ˛̊

Ê√1n∏1œfl¡±ø˘Ú ’ª¶ö± Œ‚± ∏̄Ì± ’±1n∏ ̧ —¸À√ ’Ú≈À˜±√Ú Ê√Ú±À˘ ̋ ◊√√ øfl¡˜±Ú ø√ÚÕ˘ ¬ı±˝√√±˘ Ô±Àfl¡∑

a) 3 years ̊ 3 ¬ıÂ√1Õ˘

b) Remaining period ˚ ’Ú≈À˜±√Ú Ê√ÀÚ±ª± Œ˘±fl¡¸ˆ¬±1 ¬ı±fl¡œ fl¡± «̊…fl¡±˘Õ˘

c) for 5 years ̊ 5 ¬ıÂ√1Õ˘¡

d) Untill repeal ̊ ø˚˜±Úø√ÚÕ˘ Î¬◊Í¬± ◊̋√√ Œ˘±ª± Ú √̋√̊ ˛

5. The maximum strength of Loksabha and the Rajya Sabha? ˚ Œ˘±fl¡¸ˆ¬± ’±1n∏ 1±Ê√… ̧ ˆ¬±1 ̧ À¬ı±«2‰¬ ’±¸Ú ̧ —‡…± ̋ √√í˘--

a) 525 and [’±1n] 250¡ b) 550 and [’±1n] 250
¡¡ c) 545 and [’±1n] 250¡¡ d) 500 and [’±1n] 300

6. How much is one barrel of oil approximately equal to? ˚ ¤fl¡ Œ¬ıÀ1˘ ŒÓ¬˘ õ∂± ˛̊ øfl¡˜±Ú ø˘È¬±11 ̧ ˜±Ú∑¡

a) 131 lts. [ø˘È¬±1]¡¡ b) 159 lts. [ø˘È¬±1]¡¡ c) 257 lts. [ø˘È¬±1]¡¡ d) 322 lts. [ø˘È¬±1]¡
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7. What does ‘Grey revolution’s refer to? ˚ Grey [Ò≈̧ 1] ø¬ıõ≠ª øfl¡ √̋√1 ̆ ·Ó¬ Ê√øÎ¬ˇÓ¬∑

a) Grain ̊ ̇ ∏̄… Î¬◊»¬Û±√Ú b) Fisheries ̊ ̃ ±Â√ Î¬◊»¬Û±√Ú

c) Vegetables ˚ ̇ ±fl¡-¬Û±‰¬ø˘ Î¬◊»¬Û±√Ú d) Potato ̊ ’± ≈̆ Î¬◊»¬Û±√Ú

8. Starting with the Australian open Lawn tennis tournament, which one of the following is the correct chronological order
of the other three major Lawn Tennis Tournaments? ˚ ’À©Ü™ø˘ ˛̊±Ú ̃ ≈fl¡ø˘ ŒÈ¬øÚÂ√ õ∂øÓ¬À˚±ø·Ó¬±1 ¬Û1± ’±1y fl¡ø1À˘ Ó¬˘Ó¬ ø√̊ ˛± Œfl¡±ÚÀÈ¬±

qX Sê˜ ̋ √√í¬ı∑

a) French open : US open : Wimbledon ˚ ŒÙË¬= ’íÀ¬ÛÚ  . ’±À˜ø1fl¡±Ú ’íÀ¬ÛÚ  . Î¬◊•§̆ Î¬Ú

b) French open : Wimbledon : US open ˚ ŒÙË¬= ’íÀ¬ÛÚ  . Î¬◊•§̆ Î¬Ú  . ’±À˜ø1fl¡±Ú ’íÀ¬ÛÚ

c) Wimbledon : US open : French open ˚ Î¬◊•§̆ Î¬Ú  . ’±À˜ø1fl¡±Ú ’íÀ¬ÛÚ  . ŒÙË¬= ’íÀ¬ÛÚ

d) Wimbledon : French open : US open ˚ Î¬◊•§̆ Î¬Ú  . ŒÙË¬= ’íÀ¬ÛÚ  . ’±À˜ø1fl¡±Ú ’íÀ¬ÛÚ

9. Which of the following is not essentially a species of the Himalayan Vegetation? ˚ Ó¬˘1 Œfl¡±Úø¬ıÒ ̧ ±Ò±1ÌÀÓ¬ ø √̋√̃ ±˘˚̨1 ·Â√-·Â√øÚ

Ú √̋√̊ ∑̨

a) Juniper ̊ Ê≈√øÚ¬Û±1¡ b) Mahogany ̊ Œ˜ √̋√·øÌ c) Silver Fin ̊ øÂ√̆ ˆ¬±1 øÙ¬Úd) Spruce ̊ ¶Û }√±Â√

10. Which of the following hills are found where the Eastern Ghats and Western Ghats meet? ˚ ¬Û”¬ı«‚±È¬ ’±1n∏ ¬Ûø(˜ ‚±È¬ ¬Û¬ı«√Ó¬˜±˘±

¤fl¡øSÓ¬ fl¡1± ¬Û±˝√√±1‡Ú1 Ú±˜ øfl¡∑

a) Annamalai hills ̊ ’iß±˜±˘± ◊̋√√ b) Cardamom ˚ fl¡±Î«¬±˜í˜

c) Nilgiri ˚ Úœ˘ø·ø1 d) Shivalig ̊ øù ¬́ı±˘œ·

11. On which of the following is the Tehri Hydropower Project located? ˚ ŒÓ¬ √̋√1œ Ê√̆ ø¬ı≈√…» õ∂fl¡ä Œfl¡±Ú Ú√œ1 ›¬Û1Ó¬∑

a) Alakananda ˚ ’˘fl¡±Úµ± b) Bhagirathi ̊ ̂ ¬±·œ1øÔ

c) Dhauliganga ˚ Ò›ø˘·—·± d) Mandakini ̊ ̃ µ±øfl¡Úœ

12. In India, how many states share the Coastline? ˚ ̂ ¬±1Ó¬1 øfl¡˜±Ú‡Ú 1±Ê√… ̧ ±·1œ ˛̊ Î¬◊¬Ûfl”¡˘1 ̆ ·Ó¬ ̧ —˘¢ü∑

a) 7 b) 8 c) 9 d) 10

13. How many kittens at a time are given birth to by a Cat? ˚ Œ˜fl≈¡1œ ¤Ê√ÚœÀ ˛̊ ¤¬ı±1Ó¬ øfl¡˜±ÚÈ¬± Œ¬Û±ª±˘œ Ê√ij øÀ ˛̊∑

a) 1 to 2 ̊ 1 È¬±1 ¬Û1± 2 √È¬± b) 2 to 3 ̊  2 √È¬±1 ¬Û1± 3 È¬±

c) 2 to 4 ̊ 2 √È¬±1 ¬Û1± 4 È¬±¡¡ d) 2 to 5 ̊  2 È¬±1 ¬Û1± 5 È¬±

14. Which one of the following is the correct sequence in respect of the Roman Numerials C. D., L & M ? ˚ Œ1±˜±Ú ̧ —‡…±

’Ú≈̊ ± ˛̊œ ̧ øÍ¬fl¡ Sê˜ ̋ √√í¬ı--

a) C > D > L > M b) M > L > D > C c) M > D > C > L d) L > C > D > M

15. The Harappan Civilization has been regarded as an urban civilization on the basis of the ˚ ̋ √√1m±1 ̧ ˆ¬…Ó¬±fl¡ øfl¡ √̋√1 øˆ¬øM√√Ó¬ Ú·1

¸ˆ¬…Ó¬± ¬ı≈ø˘ Í¬±ª1 fl¡1± ∆˝√√ÀÂ√∑

a) Sophisticated language used that time ˚ Î¬◊ißÓ¬ ̂ ¬± ∏̄± ¬ı…ª √̋√±1 fl¡ø1øÂ√̆

b) Advanced agricultural techniques used ˚ Î¬◊ißÓ¬ fl‘¡ø ∏̄¬ÛXøÓ¬ ¬ı…ª √̋√±1 fl¡ø1øÂ√̆

c) Drainage system ˚ Œ¸ ◊̋√√ ̧ ˜˚̨1 Ú˘±-Ú«√̃ ±1 ’ª¶ö±

d) Socio-economic conditions of Harappans ˚ ŒÓ¬›“À˘±fl¡1 ̧ ±˜±øÊ√fl¡ ’Ô«ÕÚøÓ¬fl¡ ’ª¶ö±
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16. With reference to the invaders in anceint India, which one of the followings is the correct chronological order? ˚ qX Sê˜

’Ú≈̧ ø1 õ∂±‰¬œÚ ̂ ¬±1Ó¬ ’±Sê˜Ìfl¡±1œ ̧ fl¡˘fl¡ ̧ ÀÊ√±ª±--

a) Greeks –– Kushans –– Sakas˚¢∂œfl¡--fl≈¡ ∏̄±Ì--˙fl¡ b) Greeks –– Sakas –– Kushans ˚ ¢∂œfl¡ -- ̇ fl¡ -- fl≈¡¯∏±Ì

c) Sakas –– Greeks –– Kushans˚˙fl¡--¢∂œfl¡--fl≈¡ ∏̄±Ì d) Sakas –– Kushans –– Greek˚˙fl --fl≈¡ ∏̄±Ì--¢∂œfl¡

17. Which is the home of ‘‘Alphonso mango’’? ˚ ø¬ı‡…±Ó¬ ë’±˘Ù¬±À=±í õ∂Ê√±øÓ¬1 ’±˜ fl¡íÓ¬ Œ¬Û±ª± ̊ ± ˛̊∑

a) Ratnagiri ̊ 1P±ø·ø1 b) Benaras ˚ Œ¬ıÚ±1¸ c) Malda ̊  ̃ ±˘√± d) Vijaywada ̊ ø¬ıÊ√̊ ª̨±Î¬̌±

18. The clouds float in the atmosphere because of their low– ˚ ¬ı± ˛̊≈̃ G˘Ó¬ Î¬±ª1 ›¬Ûø„√√ Ù≈¬À1, Ó¬±1 fl¡±1Ì ̋ √√í˘--

a) Temperature ˚ øÚ•ßÓ¬±¬Û b) Velocity ̊  øÚ•ß ·øÓ¬À¬ı·

c) Pressure ˚ øÚ•ß ‰¬±¬Û d) Density ̊ fl¡˜ ‚ÚQ

19. Which one of the following weather conditions is indicated by a sudden fall in barometer reading? ˚ ̋ √√Í¬±» Œ¬ıÀ1±ø˜È¬±11 ¬Û±1±

Ó¬˘Õ˘ Ú±ø˜À˘ ¬ıÓ¬11 Œfl¡ÀÚfl≈¡ª± ¬Ûø1¬ıÓ«¬√√Ú ̧ ≈‰¬±˚˛∑

a) Stromy weather ˚ Ò≈̃ ≈̋ √√± b) Cold weather ˚ Í¬±G± ¬ıÓ¬1

c) Cold & dry weather ˚ Í¬±G± ’±1n∏ qfl¡±Ú ¬ıÓ¬1 d) Hot & Sunny weather ˚ ·1˜ Ù¬1fl¡±˘ ¬ıÓ¬1

20. In which one of the following countries is ‘Rupee’ the currency? ˚ Ó¬˘1 Œfl¡±Ú Œ√̇ 1 ̃ ”̂ ±1 Ú±˜ ë1n∏¬Ûœí∑

a) Bhutan ̊ ̂ ¬≈È¬±Ú b) Malayasia ̊ ̃ ±˘˚̨øÂ√̊ ±̨ c) Maldives ̊ ̃ ±˘¡Zœ¬Û d) Seychelles ˚ ø‰¬øÂ√ø ¬̆

21. When ants bite, they inject– ˚ ¬Û1n∏ª± ◊̋√√ fl¡±À˜±1Ó¬ øfl¡ ¬Û√±Ô« ̧ ≈̃ ≈ª± ◊̋√√ ø√À ˛̊∑

a) Glacial acetic acid ˚ Œ¢≠ø‰¬˚̨±˘ ¤ø‰¬øÈ¬fl¡ ¤øÂ√Î¬ b) Methanol ̊ ø˜Ô±ÀÚ±˘

c) Formic acid ̊ Ù¬1ø˜fl¡ ¤øÂ√Î¬ d) Stearic acid ˚ Œ©Ü ˛̊ø1fl¡ ¤øÂ√Î¬

22. ‘Ace’ is a sports term related with– ˚ ‘Ace’ øfl¡ Œ‡˘1 ̆ ·Ó¬ Ê√øÎ¬ˇÓ¬ ̇ s∑

a) Tennis ̊ ŒÈ¬øÚ‰¬ b) Rugbee ̊ 1±·¬ıœ c) Golf ̊  Œ·±˘Ù¬ d) None of these ˚ ¤È¬±› Ú √̋√̊ ˛

23. ‘Sensex’ is a– ˚ ‘Sensex’ ∆ √̋√ÀÂ√--

a) Sensivity  index of Bombay Stock Exchange ˚ Œ¬ı±À•§ õ∂øÓ¬ˆ¬≈øÓ¬ ø¬ıøÚ˜ ˛̊ Œfl¡f1 ̧ ≈‰¬±—fl¡

b) Sex behaviour of animals ˚ Ê√œª-Ê√c1 Œ˚ÃÚ ¬ı…ª √̋√±1 c) Sale Tax ̊ ø¬ıSêœfl¡1 c) None of these ˚ ¤È¬±› Ú √̋√̊ ˛

24. Which one of the following is a modern tank? ˚ Ó¬˘1 Œfl¡±ÚÀÈ¬± ’±Ò≈øÚfl¡ ̧ ±˜ø1fl¡ ŒÈ¬—fl¡∑

a) Bhim ̊  ̂ ¬œ˜ b) Akash ̊ ’±fl¡±˙ c) Arjun ̊  ’Ê≈√«Ú d) Prithvi ̊  ¬Û‘øT

25. Which one of the following is another name of RDX? ˚ RDX 1 ’Ú… Ú±˜ øfl¡∑

a) Cynohydrim ̊ Â√± ◊̋√√ÀÚ± √̋√± ◊̋√Eœ˜ b) Dextran ̊ ŒÎ¬'¬∏C±Ú

c) Cyclohexane ˚ Â√± ◊̋√√Àflv¡±À˝À√√'Ú d) Cyclonite ̊ Â√± ◊̋√√Àflv¡±Ú± ◊̋√√È¬

26. Falun Gong is– ˚ Ù¬± ≈̆Ú ·— ¤øÈ¬--

a) An ethnic minority in eastern China ˚ ¬Û≈¬ı ‰¬œÚ1 ¤øÈ¬ ̧ —‡…±˘‚≈ Î¬◊¬ÛÊ√±øÓ¬

b) An insurgecy outfit in western China ˚ ¬Ûø(˜ ‰¬œÚ1 ¤øÈ¬ Î¬◊¢∂¬ı±√œ √̆

c) A pro democracy movement in China ˚ ‰¬œÚ1 ·ÌÓ¬La ¬ı±√œ ’±Àµ±˘Ú

d) A spiritual movement in China ˚ ‰¬œÚ1 ¤øÈ¬ ’±Ò…±øRfl¡ ’±Àµ±˘Ú
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27. Which party was founded by Subhash Chandra Bose, after he broke away from the Congress? ˚ fl¡—À¢∂Â√1 ¬Û1± ›˘± ◊̋√√ ’ √̋√±1

ø¬ÛÂ√Ó¬ ̧ ≈̂ ¬± ∏̄ ‰¬f ¬ı ≈̧À ˛̊ øfl¡ √˘ ·Í¬Ú fl¡ø1øÂ√˘∑

a) Indian Freedom Party ˚ ̋ ◊√√øG˚̨±Ú øÙË¬Î¬˜ ¬Û±øÈ«¬ b) Azad Hind Fauj ̊ ’±Ê√±√ ø √̋√µ ŒÙ¬ÃÊ√

c) Revolutionery Front ˚ ∆¬ıõ≠ø¬ıfl¡ Œ˜±‰«¬± d) Forward Block ̊ Ù¬1ª±Î«¬ ¬ıvfl¡

28. Famous Golf player Vijay Singh is from which one of the following Countries? ˚ ø¬ı‡…±Ó¬ ·˘Ù¬ Œ‡ ≈̆Õª ø¬ıÊ√̊  ̨ø¸— Ó¬̆ 1 Œfl¡±Ú Œ√̇ 1

Ú±·ø1fl¡∑

a) Fiji ̊  øÙ¬Ê√œ b) Mauritus ̊ ̃ ø1Â√±‰¬ c) Malayasia ̊ ̃ ±˘À˚̨øÂ√̊ ±̨ d) Kenya ̊ Œfl¡Úœ ˛̊±

29. Who among the following is not a recipient of ‘Bharat Ratna’. ˚ Ó¬˘1 Œfl¡±ÚÊ√ÀÚ ëˆ¬±1Ó¬ 1Pí Œ¬Û±ª± Ú± ◊̋√√∑

a) Ustad Bismillah Khan ˚ Î¬◊ô¶±√ ø¬ıÂ√ø˜~± √̋√ ‡±Ú b) Satyajit Ray ̊ ̧ Ó¬…øÊ√Ó¬ 1˚̨

c) Lata Mangeskhar ˚ ̆ Ó¬± ̃ Àe˙fl¡±1 d) Raj Kapoor ̊ 1±Ê√fl¡±¬Û≈1

30. What is Universal Product Code (UPC) adopted for? ˚ øfl¡ √̋√1 ¬ı±À¬ı ø¬ıù´Ê√øÚÚ øÚ ˛̊̃ ±ª˘œ ’±ÀÂ√∑

a) Fire safety in buildings ˚ ø¬ıøã„√√Ó¬ ’ø¢ü ̧ ≈1é¬±ÚœøÓ¬

b) Earth quake resistant building code ˚ ø¬ıøã„√√Ó¬ ̂ ¬≈ø˜fl¡•Û ̧ ≈1é¬± ÚœøÓ¬

c) Bar Code ̊ ¬ı±1 øÚ ˛̊̃ ±ª˘œ

d) Against adulteration of eatables ˚ ‡±√… ̧ ±˜¢∂œ1 Œˆ¬Ê√±˘ õ∂øÓ¬À1±Ò Úœ ˛̊̃ ±ª˘œ

31. In which country is Karbala, the holy city of Shia muslims, located? ˚ øù´˚̨± ̧ •x√±˚̨1 ¬ÛøªS Ú·1œ fl¡±1±¬ı±˘± fl¡íÓ¬ ’ªø¶öÓ¬∑

a) Iran ̊  ̋ ◊√√1±Ì b) Iraq ̊  ̋ ◊√√1±fl¡ c) Jordan ̊ Ê√Î«¬±Ú d) Syria ̊ øÂ√ø1˚̨±

32. Who wrote the patriotic song, ‘‘Sarforoshi ki tamanna ab hamaare dil mein hai’’. ˚ Œ√̇ Àõ∂̃  ̃ ”̆ fl¡ ·œÓ¬- ëëÂ√1Ù¬À1±¸œ øfl¡ Ó¬±˜±iß±

’ª ̋ √√±˜±À1 ø√˘ Œ˜ ̋ √√…± ˛̊íí1 1‰¬ø ˛̊Ó¬± Œfl¡±Ú ’±øÂ√˘∑

a) Mohammad Iqbal ˚ ̃ √̋√•ú√ ̋ ◊√√fl¡¬ı±˘ b) Ramprasad Bismil ˚ 1±˜õ∂̧ ±√ ø¬ıÂ√ø˜˘

c) Kazi Najrul Islam ̊ fl¡±Ê√œ ÚÊ√1n∏̆  ̋ ◊√√Â√̆ ±˜ d) Firaq Gorakhpuri ˚ øÙ¬1±fl¡ Œ·±1‡¬Û≈1œ

33. Who is responsible to collect the Service Tax? ˚ Œ¸ª± fl¡1 ̧ —¢∂ √̋√1 √±ø ˛̊Q fl¡±1∑

a) Income Tax department ˚ ’±˚̨fl¡1 ø¬ıˆ¬±· b) Central Excise department ˚ Œfl¡fœ ˛̊ ’±ªfl¡±1œ ø¬ıˆ¬±·

c) Comercial Tax department ˚ ¬ı±øÌøÊ√…fl¡ fl¡1 ø¬ıˆ¬±· d) Postal department ˚ Î¬±fl¡ Œ¸ª± ø¬ıˆ¬±·

34. Nirbheek, Hitkari, Vanarja & Shymachari are the varieties of– ˚ øÚˆ¬œ«fl¡, ø √̋√Ó¬fl¡±1œ, ¬ıÚÊ«√± ’±1n∏ ̇ …±˜±‰¬±1œ øfl¡ √̋√1 õ∂Ê√±Ó¬œ∑

a) Bulles ̊ ·1n∏ b) Poultry ̊  ̋ √√±“̋ √√-fl≈¡fl≈¡1± c) Pigs ̊ ·± √̋√1œ d) Sheep ̊ Œˆ¬1±

35. Who was the architect who designed the ‘‘Taj Mahal’’? ˚ ëëÓ¬±Ê√̃ √̋√̆ íí1 Ú'± õ∂dÓ¬fl¡1± ¶ö¬ÛøÓ¬√ Œfl¡±Ú ’±øÂ√̆ ∑

a) Mohammad Hussain ˚ ̃ √̋√•ú√ UÀÂ√̋ ◊√√Ú b) Ustad Isa ̊ Î¬◊ô¶±√ ̋ ◊√√Â√±

c) Shah Abbas ˚ ù´± √̋√ ’±¬ı3±Â√ d) Ismail ̊  ̋ ◊√√‰ƒ¬̃ ± ◊̋√√̆

36. The concept of Public Intrest Litigation (PIL) originated in– ˚ 1±Ê√Uª± ¶§±Ô« Ê√øÎ¬̌Ó¬ Œ·±‰¬11 Ò±1Ì±ÀÈ¬± fl¡íÓ¬ Î¬◊»¬ÛøM√√ ∆ √̋√øÂ√̆ ∑

a) The United Kingdom ˚ ̋ ◊√√Î¬◊Ú± ◊̋√√ÀÈ¬Î¬ øfl¡—Î¬˜ b) Australia ̊ ’À©Ü™ø˘˚̨±

c) The US ̊ ’±À˜ø1fl¡± ̊ ≈Mê√1±©Ü™ d) Canada ˚ fl¡±Ú±Î¬±
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37. A British citizen staying in India cannot claim right to– ˚ ¤Ê√Ú ¬ı‘øÈ¬‰¬ Ú±·ø1Àfl¡ ̂ ¬±1Ó¬Ó¬ Ôfl¡± ’ª¶ö±Ó¬ øfl¡ ’øÒfl¡±11 √±¬ıœ fl¡ø1¬ı ŒÚ±ª±À1∑

a) Freedom of trade & profession ˚ ¬ı±øÌÊ√… ’±1n∏ ‰¬±fl¡ø11 ’øÒfl¡±1

b) Equality before law ˚ ’± ◊̋√√Ú·Ó¬ ̧ ˜ ’øÒfl¡±1

c) Protection of life & personal liberties ˚ Ê√œªÚ ’±1n∏ ¬ı…øMê√ ¶§±ÒœÚÓ¬±1 ̧ ≈1é¬±

d) Freedom of religion ˚ Ò˜œ«̊  ̨¶§±ÒœÚÓ¬±

38. The speaker can ask a member of the House to stop speaking and let another member speak. This phenomenon is
known as– ̊ ’Ò…é¬˝◊√√ ¤Ê√Ú ̧ ±—¸√fl¡ ¬ıMê√¬ı…1 ̃ ±Ê√ÀÓ¬ ø¬ı1Ó¬ fl¡ø1 ’±Ú ¤Ê√Úfl¡ fl¡í¬ıÕ˘ ̧ ≈ø¬ıÒ± ø√¬ı ¬Û±À1º ¤˝◊√√ ¬ÛXÓ¬œfl¡ øfl¡ ¬ı≈ø˘ Ê√Ú± ̊ ±˚̨∑

a) Decorum ̊ ŒÎ¬Àfl¡±1±˜ b) Crossing the floor ˚ Sêø‰¬— √± Ùv¬í1

c) Interpolations ̊ ̋ ◊√√KI◊±1À¬Û±À˘ù´Ú d) Yielding the floor ̊ ̋ ◊√√øã— √± Ùv¬í1

39. The state which has the largest number of seats reserved for the Scheduled Tribes in the Lok Sabha is– ˚ Œ˘±fl¡¸ˆ¬±1 ¬ı±À¬ı

’øÒfl¡ ’Ú≈̧ ≈ø‰¬Ó¬ Ê√±øÓ¬1 ̧ —1øé¬Ó¬ ’±¸Ú Œfl¡±Ú ‡Ú 1±Ê√…Ó¬ ’±ÀÂ√∑

a) Bihar ̊ ø¬ı √̋√±1 b) Gujrat ̊ &Ê√1±È¬ c) U.P. ̊  Î¬◊M√√1 õ∂À√˙ d) M. P. ̊  ˜Ò… õ∂À√˙

40. Bank rate means: ˚ Œ¬ı—fl¡1 ̋ √√±1 ̃ ±ÀÚ--

a) Rate of interest charged by Central Bank on lending to Commercial Bank ˚

Œfl¡fœ ˛̊ Œ¬ı—Àfl¡ ¬ı±øÌøÊ√…fl¡ Œ¬ı—fl¡Õ˘ ø√ ˛̊± Ÿ¬Ì1 ̧ ≈Ó¬1 ̋ √√±1

b) Rate at which the banks lend to their customers ˚ Œ¬ı—Àfl¡ ¢∂± √̋√fl¡Õ˘ ø√̊ ˛± Ÿ¬Ì1 ̧ ≈Ó¬1 ̋ √√±1

c) Rate at which the banks borrow and lend among themselves ˚ Œ¬ı—fl¡ ø¬ı˘±fl¡1 ˜±Ê√Ó¬ Ÿ¬Ì ¢∂˝√√Ì ’±1n∏ õ∂√±Ú1 ¬ı±À¬ı

Œ˘±ª± ¬Û±1¶Ûø1fl¡ ̧ ≈Ó¬1 ̋ √√±1

d) None of these ˚ ̋ ◊√√̊ ˛±1 ¤È¬±› Ú √̋√̊ ˛

General English ̊  ¸±Ò±1Ì ˝◊√√—1±Ê√œ

Only one option  out of the four  given,  i,e  [ ( a) , (b) , (c) and (d) ] applies correctly to the blank space. Put the correct option
in the box on the right hand side. (Questions 1 to 10 )

41. They substituted the old piano ............................... a new one.

a) with b) by c) for d) to

42. It all depends on ............................... you ask.

a) who b) to who c) to whom d) whom

43. This method is ...............................

a) much best b) very best c) much the best d) best

44. Have you ...............................?

a) many luggages b) a lot of luggages c) much luggage d) too many luggage

45. Use your common sense, ...............................

a) will you? b) can’t you? c) won’t you? d) shall you ?

46. We have ............................... three miles to go.

a) still b) yet c) more d) other
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47. If you were ............................... what would you do?

a) him b) he c) his d) himself

48. Neither Peter nor his sisters ............................... present.

a) was b) were c) is d) being

49. He is one of those who ............................... appreciate music.

a) does b) do not c) does not d) is not.

50. Haji Ajmal Seth  passed ............................... on 17 February 2009.

a) by b) off c) out d) away

Write the correct option in the adjacent  box. ( Q. 11 to 20 )

51. “Anodyne” is a drug that

a) induces sleep b) relieves pain c) increases appetite d) causes memory loss

52. I visited the  geriatric  ward of the hospital. Geriatric  refers to the ward for

a) victims of bomb blast b) new-born babies
c) burn patients d) old people

53. Indira Gandhi was a charismatic leader. Charismatic means

a) intelligent  and fore-sighted b) beautiful and courageous
c) wealthy and aristocratic d) millions of people followed and admired her.

54. There is an English proverb which says, “ Too many cooks spoil the ...............................

a) dish b) curry c) broth d) feast

55. The study of mountains is termed

a) oology b) orology c) etymology d) limnology

56. The dead skin cast off by a snake is called

a) hide b) sloth c) slough d) leather

57. “Logophobia” is a term which refers to the fear of

a) symbols b) writing c) study d) teachers

58. Bill was very capricious. It means Bill was

a) economical b) skillful c) obedient d) unpredictable

In the following questions one word is mis-spelt. Find out the word.

59. a) alright b) cooly c) supersede d) disappear
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60. a) tyranny b) tarriff c) parallel d) battalion

In each of the following questions you are given a related pair of words in capital letters which have a certain relationship
to each other. Each capitalized pair is followed by  four pairs of words. Choose the pair which best expresses  a
relationship similar to that expressed by the original pair.

61. EXERCISE : FITNESS  : : ?

a) Knowledge : Learning b) provoke : rouse
c) health : welfare d) laughter : sorrow

62. CRESCENDO : SOUND : : ?

a) ovation : applause  b) speed : acceleration c) waves : tide d)cyclone : wind

63. DOG : DALMATIAN : :  ?

a) flower : rose b) potato : vegetable c) rice : curry d)nuts : fruits

The following sentences are divided in to three parts and each part is underlined and marked a,b,c. Only one part
contains an error. Identify the error part. If there is no error, mark it (d).

64. He talks like his father does. No error
(a) (b) c (d)

65. He was present on both days. No error.
(a) (b) (c) (d)

66. What is it which makes you angry. No error.
(a) (b) (c) (d)

In the following questions the letters of the words are jumbled up. You are required to arrange the words out of the
jumbled spelling. Each letter has been numbered and each word is followed by four options. Choose the option that
gives the correct order of letters as indicated by numbers to form a meaningful word.  (Q. 29 to 32.)

Example: M A H N U
1 2 3 4 5

a) 42315 b) 23451 c) 42351 d) 35124.

The answer is (d). By arranging the letters  according to the order indicated by (d) we get the word HUMAN.

67. Q I P E U
1 2 3 4 5

a) 13452 b) 24351 c) 24315 d) 41523

68 . R M S T A
1 2 3 4 5

a) 43251 b) 21543 c) 32514 d) 25143
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In the following questions there is a key sentence followed by  four alternative sentences. Out of the four options,
you are required to select the one which is the closest restatement of the given sentence.

69. Ideas boom louder than cannons.

a) ideas produce more noise than cannons. b)ideas are more influential than cannons.
c) ideas disturb more than cannons. d) cannons generally drown the noise of ideas

70. Men seek peace in material gain which is devoid of it.

a) material gain offers no peace. b) material gains give no peace, but men look for it.
c) materialism is removed from peace. d) it is useless to look for peace in material gains

In the following questions the beginning of the sentence is given and the remaining part of the sentence is broken in to
four parts represented by P,Q,R and S.  Choose the correct option in which the sentence is reconstructed by properly
arranging the parts in sequential order  so as to form a meaningful sentence.

71. It has been established that ...............................
P.  Einstein was
Q. although a great scientist
R. weak in arithmetic
S. right from his school days.

a) RQPS b) SRPQ c) QPRS d) QPSR

72. When you ...............................
P. which one is closest in meaning
Q. read the four sentences in your text book and decide
R. to the statement you have heard
S. hear a statement.

a) SPQR b) QPSR c) SRPQ d) SQPR

In the following questions you are required to find the most suitable word given in the options to replace both the
words in bold italics in the two sentences. Choose the option which can be used in place of the italicized words in both
sentences.

73. i) I can not endure such a loud noise any more.
ii) He preferred to consider the other view.

a) Bear b) position c) sight d) stand

74. i) I feel scared when I look at towering buildings.
ii) Because of his arrogant behavior many people are offended with him.

a) Haughty b) high c) proud d) lofty
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Homonyms are words which are similar in pronunciation but different in spelling and meaning. In the following
sentences, two homonyms are given in bold italics, which may be either mis-spelt or inappropriate in the context of
the sentences. Read both the sentences carefully and choose the correct words from the options that replace the words
in italics in the given sentences.

75. i) He drank a draut of water.
ii) Crops failed due to drout.

a) Drout, draut b) drought, draught c) draught, drought d)draft, drout.

76. i) This verb must take a complemend after it.
ii) I offer my compliments to you.

a) compliment, complimend b) complement, compliments
c) compliment, complement d) complements, compliment.

In the following sentences you are required to find antonyms for the italicized word in the sentence. Choose the option
which best expresses the opposite meaning.

77. The man at the gate had a forbidding appearance.

a) lenient b) pleasing c) tranquil d) mild

78. His writings have been much eulogized.

a) disapproved b) appreciated c) condemned d) praised

Choose the option that gives the correct sense of the idioms / phrases in the following sentences.

79. You can never win against the wishes of the rank and file.

a) military b) bureaucracy c) common people d)politicians

80. The NSG commandos arrived at the eleventh hour.

a) just before midnight. b) at 11 o’ clock at night.
c) in the last minute d) after the crisis was over.

Subject : Essay (Marks : 20)

81. Write an essay on any one of the following in about 300 words.

a) Should mobile phones be banned in schools and colleges ?

b) Women’s Empowerment

c) T 20  verses One-Dayers in Cricket.

OOOOO
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